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PT(u,v)

0 3#?�- . / 0 @ . 0 1 2 / 0 6 4�2 9 <�0 3X4 F - 2 .
/ >
/ 7 4I@ 5 > < - 1 /&> G#0 9 < 0 6 0 < - 2 .�. 0 9 \Z?�4 / 5 0 1Zl M
PL(i,j)

2 . > 9 :!/ 7 4X@ 2 / 7
PT(u,v).

•
` G [ ]),(),...,,(),,(min),( vkmjimvumvum =/ 7 4p/ 5 4 4 1 > 9 3 / 5 2 0 9 /^0 3j1 > 9 1 2 6 4 Afxe> 5



4 [ 2 ?I@ . 4 LX/ 7 4�8 2 9 < P
0 < / 7
b(u,v),

2 6 2 0 . 2 8 . 4
2 . > 9 :�2�@ 2 / 7�G 5 > ?�9 > < 4

u
/ >H9 > < 4

v
LX0 3

1 > 9 1 2 6 4E2 9 <]0 3�4 F - 2 .�/ >+/ 7 4J?�0 9 0 ?�- ?
8 2 9 < PX0 < / 7O2 ?�> 9 :j/ 7 4v. 0 9 \ 3�> 9O@ 2 / 7
PT(u,v).

2.2.2 -�* .$/ / 0 1 0 2 .$ 0 "$34" 1�&(5�*  0 2 .$/  6 "$5� 0 3�798�# "$:�* � ;
RI4 @ 4 9 < 0 9 :I> 9�/ 7 4!. 0 9 \ q / 5 4 4
1 > 9 3 / 5 2 0 9 / 3�0 ?�@ > 3 4 <
2 9 <=/ 7 4�> 8 = 4 1 / 0 6 4�G - 9 1 / 0 > 9 3�- 3 4 < L
2�?�- . / 0 1 2 3 /
5 > - / 0 9 :!@ 5 > 8 . 4 ?W1 2 9I8 4
G > 5 ?�- . 2 / 4 <�2 3 h
1.
Y . 0 9 \ M 1 > 9 3 / 5 2 0 9 4 <g@ 5 > 8 . 4 ?Zhv2Q. 0 9 \
1 > 9 3 / 5 2 0 9 /�0 3#0 ?�@ > 3 4 <
/ >Z1 > 9 3 / 5 - 1 /#G 4 2 3 0 8 . 4
?�- . / 0 1 2 3 /O/ 5 4 4 3�3 - 1 7R2 3 8 2 9 < PX0 < / 7 M
1 > 9 3 / 5 2 0 9 4 <I5 > - / 0 9 : A

2.
Y]?�- . / 0 @ . 4 M . 0 9 \ M 1 > 9 3 / 5 2 0 9 4 <�@ 5 > 8 . 4 ?Zh�/ P!>
> 5Z?�> 5 4H. 0 9 \�1 > 9 3 / 5 2 0 9 / 3*2 5 4=0 ?�@ > 3 4 <�/ >
1 > 9 3 / 5 - 1 /eG 4 2 3 0 8 . 4
/ 5 4 4 3#3 - 1 7�2 3�8 2 9 < PX0 < / 7 M
2 9 <!8 - G G 4 5 M 1 > 9 3 / 5 2 0 9 4 <!5 > - / 0 9 : A

3.
Y / 5 4 4 M 1 > 9 3 / 5 2 0 9 4 <U@ 5 > 8 . 4 ?Zhj2Q/ 5 4 4
1 > 9 3 / 5 2 0 9 /�0 3#0 ?�@ > 3 4 <
/ >Z1 > 9 3 / 5 - 1 /#G 4 2 3 0 8 . 4
/ 5 4 4 3#3 - 1 7�2 3�< 4 . 2 ; M 1 > 9 3 / 5 2 0 9 4 <!5 > - / 0 9 : A

4.
Y+?�- . / 0 @ . 4 M / 5 4 4 M 1 > 9 3 / 5 2 0 9 4 <�@ 5 > 8 . 4 ?
h&/ P!>
> 5Z?�> 5 4=/ 5 4 4H1 > 9 3 / 5 2 0 9 / 3�2 5 4=0 ?�@ > 3 4 <�/ >
1 > 9 3 / 5 - 1 /&G 4 2 3 0 8 . 4I/ 5 4 4 3
3 - 1 7Z2 3
< 4 . 2 ; MX2 9 <
interreceiver-delay-jitter-constrained
routing.

5.
Y�. 0 9 \ M*2 9 <�/ 5 4 4 M 1 > 9 3 / 5 2 0 9 4 <�@ 5 > 8 . 4 ?
h�2
. 0 9 \W1 > 9 3 / 5 2 0 9 /Z2 9 <W2H/ 5 4 4H1 > 9 3 / 5 2 0 9 /Z2 5 4
0 ?I@ > 3 4 <I/ >�1 > 9 3 / 5 - 1 /�G 4 2 3 0 8 . 4!/ 5 4 4 3X3 - 1 7�2 3
< 4 . 2 ; Me2 9 <I8 2 9 < P
0 < / 7 M 1 > 9 3 / 5 2 0 9 4 <I5 > - / 0 9 : A

6.
Y . 0 9 \O> @ / 0 ?I0 V 2 / 0 > 9j@ 5 > 8 . 4 ?ZhE2�. 0 9 \
> @ / 0 ?�0 V 2 / 0 > 9�G - 9 1 / 0 > 9*0 3!- 3 4 <*/ >�. > 1 2 / 4
2 9
> @ / 0 ?�2 . ?�- . / 0 1 2 3 / / 5 4 4 3 - 1 7 2 3
?�2 [ 0 ?�0 V 2 / 0 > 9=> G!/ 7 4*. 0 9 \�8 2 9 < PX0 < / 7=> 6 4 5
> 9 M / 5 4 4
. 0 9 \ 3e0 9�2
?�- . / 0 1 2 3 / / 5 4 4 A

7.
Yg/ 5 4 4v> @ / 0 ?I0 V 2 / 0 > 9O@ 5 > 8 . 4 ?
h]2�/ 5 4 4
> @ / 0 ?�0 V 2 / 0 > 9�G - 9 1 / 0 > 9*0 3!- 3 4 <*/ >�. > 1 2 / 4
2 9
> @ / 0 ?�2 . ?�- . / 0 1 2 3 / / 5 4 4 3 - 1 7 2 3
?�0 9 0 ?�0 V 2 / 0 > 9O> GK/ 7 4^/ > / 2 .+1 > 3 /K> Gf2
?�- . / 0 1 2 3 /H/ 5 4 4 A*B&7 0 3W0 3J2 . 3 >f\ 9 > P
9_2 3
D / 4 0 9 4 5�/ 5 4 4X@ 5 > 8 . 4 ?
A

8.
Y . 0 9 \ M 1 > 9 3 / 5 2 0 9 4 <R. 0 9 \R> @ / 0 ?�0 V 2 / 0 > 9
@ 5 > 8 . 4 ?
he2
. 0 9 \*1 > 9 3 / 5 2 0 9 /#0 3
0 ?�@ > 3 4 <*2 9 <
2W. 0 9 \]> @ / 0 ?�0 V 2 / 0 > 9]G - 9 1 / 0 > 9E0 3�- 3 4 <E/ >
. > 1 2 / 4^2 9j> @ / 0 ?�2 .E?�- . / 0 1 2 3 /]/ 5 4 4�/ 7 2 /
G - . G 0 . . 3 / 7 4Q1 > 9 3 / 5 2 0 9 /S3 - 1 7U2 3 / 7 4
8 2 9 < PX0 < / 7 M 1 > 9 3 / 5 2 0 9 4 <I8 - G G 4 5&> @ / 0 ?�0 V 2 / 0 > 9
problem.

9.
Yd. 0 9 \ M 1 > 9 3 / 5 2 0 9 4 <U/ 5 4 4U> @ / 0 ?�0 V 2 / 0 > 9
problem

hZ2I. 0 9 \
1 > 9 3 / 5 2 0 9 /�0 3#0 ?�@ > 3 4 <
2 9 <
2�/ 5 4 4W> @ / 0 ?�0 V 2 / 0 > 9]G - 9 1 / 0 > 9]0 3=- 3 4 <E/ >
. > 1 2 / 4^2 9j> @ / 0 ?�2 .E?�- . / 0 1 2 3 /]/ 5 4 4�/ 7 2 /
G - . G 0 . . 3 / 7 4Q1 > 9 3 / 5 2 0 9 /S3 - 1 7U2 3 / 7 4
8 2 9 < PX0 < / 7 M 1 > 9 3 / 5 2 0 9 4 < D / 4 0 9 4 5 / 5 4 4
problem.

10.
Y / 5 4 4 M 1 > 9 3 / 5 2 0 9 4 < . 0 9 \ > @ / 0 ?�0 V 2 / 0 > 9
@ 5 > 8 . 4 ?
h 2X/ 5 4 4
1 > 9 3 / 5 2 0 9 / 0 3�0 ?�@ > 3 4 <�2 9 <I2
. 0 9 \�> @ / 0 ?I0 V 2 / 0 > 9�G - 9 1 / 0 > 9I0 3�- 3 4 <I/ >�. > 1 2 / 4

2 9H> @ / 0 ?�2 .!?�- . / 0 1 2 3 /!/ 5 4 4*/ 7 2 /�G - . G 0 . . 3�/ 7 4
1 > 9 3 / 5 2 0 9 /�3 - 1 7E2 3�/ 7 4�< 4 . 2 ; M 1 > 9 3 / 5 2 0 9 4 <
8 2 9 < PX0 < / 7�> @ / 0 ?I0 V 2 / 0 > 9I@ 5 > 8 . 4 ?ZA

11.
Y / 5 4 4 M 1 > 9 3 / 5 2 0 9 4 <R/ 5 4 4U> @ / 0 ?I0 V 2 / 0 > 9
@ 5 > 8 . 4 ?
h 2X/ 5 4 4
1 > 9 3 / 5 2 0 9 / 0 3�0 ?�@ > 3 4 <�2 9 <I2
/ 5 4 4
> @ / 0 ?�0 V 2 / 0 > 9�G - 9 1 / 0 > 9�0 3�- 3 4 <I/ >�. > 1 2 / 4
2 9H> @ / 0 ?�2 .!?�- . / 0 1 2 3 /!/ 5 4 4*/ 7 2 /�G - . G 0 . . 3�/ 7 4
1 > 9 3 / 5 2 0 9 /�3 - 1 7E2 3�/ 7 4�< 4 . 2 ; M 1 > 9 3 / 5 2 0 9 4 <
D / 4 0 9 4 5�/ 5 4 4X@ 5 > 8 . 4 ?
A

12.
Ya. 0 9 \�2 9 < / 5 4 4U1 > 9 3 / 5 2 0 9 4 < / 5 4 4
> @ / 0 ?�0 V 2 / 0 > 9s@ 5 > 8 . 4 ?Zh_. 0 9 \Q2 9 <�/ 5 4 4
1 > 9 3 / 5 2 0 9 / 3 2 5 4 0 ?�@ > 3 4 < 2 9 < . 0 9 \
> @ / 0 ?�0 V 2 / 0 > 9HG - 9 1 / 0 > 9 3�2 5 4*- 3 4 <�/ >=. > 1 2 / 4
2 9H> @ / 0 ?�2 .!?�- . / 0 1 2 3 /!/ 5 4 4*/ 7 2 /�G - . G 0 . . 3�/ 7 4
1 > 9 3 / 5 2 0 9 / 3�3 - 1 7�2 3I8 2 9 < P
0 < / 7 M!2 9 <�< 4 . 2 ;
1 > 9 3 / 5 2 0 9 4 <I/ 5 4 4
> @ / 0 ?�0 V 2 / 0 > 9I@ 5 > 8 . 4 ?ZA

, 5 > 8 . 4 ?jl=2 9 <�o�2 5 4�/ 5 2 1 / 2 8 . 4 L
8 4 1 2 3 - 4H. 0 9 \
1 > 9 3 / 5 2 0 9 / 3I1 2 9�8 4ZG - . G 0 . . 4 <*8 ;*5 4 ?�> 6 0 9 :�G 5 > ?
/ 7 4X9 4 / P
> 5 \I/ > @ > . > : ;I. 0 9 \ 3�/ 7 2 /e< >I9 > / ?�4 4 / / 7 4
3 4 . 4 1 / 0 > 9v1 5 0 / 4 5 0 2 A4+�2 9 :v2 9 <

Crowcroft[2]@ 5 > 6 4 <�/ 7 2 /
/ 7 4H@ 5 > 8 . 4 ?v> G*G 0 9 < 0 9 :g2H@ 2 / 7
3 - 8 = 4 1 /s/ >�/ P
> > 5g?�> 5 4R0 9 < 4 @ 4 9 < 4 9 /
additive/

?�- . / 0 @ . 0 1 2 / 0 6 4 1 > 9 3 / 5 2 0 9 / 3r0 9 2 9 ;
@ > 3 3 0 8 . 4f1 > ?�8 0 9 2 / 0 > 9�0 3���,�M 1 > ?�@ . 4 / 4 A=B&7 4
> 9 . ;�/ 5 2 1 / 2 8 . 4�1 > ?I8 0 9 2 / 0 > 9 3�2 5 4H/ 7 4�1 > 9 1 2 6 4
1 > 9 3 / 5 2 0 9 /&2 9 <�/ 7 4�> / 7 4 5
2 < < 0 / 0 6 4 q

multiplicative1 > 9 3 / 5 2 0 9 / 3 A�Y�3�2Z5 4 3 - . / L&@ 5 > 8 . 4 ? � L ��2 9 <�l �
2 5 4!@ > . ; 9 > ?�0 2 . / 0 ?�4�3 > . 6 2 8 . 4 L P
7 0 . 4!@ 5 > 8 . 4 ? �
0 3���,eM 1 > ?I@ . 4 / 4 AWY 3 > . - / 0 > 9j2 . : > 5 0 / 7 ?R> G
@ > . ; 9 > ?I0 2 .&/ 0 ?�4
1 > ?�@ . 4 [ 0 / ;*/ >*@ 5 > 8 . 4 ?��*7 2 3
8 4 4 9J@ 5 > @ > 3 4 <W8 ;

Shacham
t � u AE,e5 > 8 . 4 ?��

5 4 < - 1 4 3X/ >
@ 5 > 8 . 4 ?��
0 GX. 0 9 \ 3X/ 7 2 /#< >Z9 > /#?�4 4 /
/ 7 4]. 0 9 \f1 > 9 3 / 5 2 0 9 / 3W2 5 4E5 4 ?�> 6 4 <fG 5 > ? / 7 4
9 4 / P
> 5 \�/ > @ > . > : ; A 	!4 9 1 4 L 0 / 0 3#2 . 3 >�@ > . ; 9 > ?�0 2 .
/ 0 ?�4�3 > . 6 2 8 . 4 A x 0 9 2 . . ; L @ 5 > 8 . 4 ?�
*k D / 4 0 9 4 5X/ 5 4 4
@ 5 > 8 . 4 ?�mp2 9 <Q@ 5 > 8 . 4 ?�� Ljl l�2 9 < l o
k 1 > 9 3 / 5 2 0 9 4 <HD / 4 0 9 4 5�/ 5 4 4�@ 5 > 8 . 4 ?�m�7 2 6 4�8 4 4 9
@ 5 > 6 4 <J/ >E8 4
��,�M 1 > ?I@ . 4 / 4 t � u A�D > ?�4J3 > - 5 1 4
5 > - / 0 9 :s2 . : > 5 0 / 7 ?
3j- 3 4 <�/ >Q3 > . 6 4 / 7 4 3 4
@ 5 > 8 . 4 ?�3&2 5 4X8 5 0 4 G . ;I0 9 / 5 > < - 1 4 <I0 9�9 4 [ /e3 4 1 / 0 > 9 A
YK9 0 1 4�3 - 5 6 4 ;H> 9H?�- . / 0 1 2 3 /!5 > - / 0 9 :=@ 5 > 8 . 4 ?
3
1 2 9I8 4
G > - 9 <!0 9
t � u A

3
��������� � ��� ��������	 
 � ��
�� 

� ��� � � � ������
 � ������	 ��� � � 
 ���(�

,�2 9 ;�?�- . / 0 1 2 3 /X5 > - / 0 9 :�2 . : > 5 0 / 7 ?
3�7 2 6 4Z8 4 4 9
@ 5 > @ > 3 4 <
/ >*3 > . 6 4�/ 7 4 3 4�@ 5 > 8 . 4 ?
3!1 . 2 3 3 0 G 0 4 <Z0 9
3 4 1 / 0 > 9vo A�B&7 0 3f1 7 2 @ / 4 5N> 9 . ;jG > 1 - 3 4 3f> 9
?�- . / 0 1 2 3 /e3 > - 5 1 4X5 > - / 0 9 :I2 . : > 5 0 / 7 ?
3 A

3.1 MOSPF
,��!D , x&t � uH0 3�2J?�- . / 0 1 2 3 /=4 [ / 4 9 3 0 > 9f> GH/ 7 4
- 9 0 1 2 3 /&. 0 9 \ M 3 / 2 / 4I@ 5 > / > 1 > .��!D , x&A ` /&P
2 3
8 2 3 4 <
> 9�RI4 4 5 0 9 : c 3�P
> 5 \et 
 u Ae` 9�2 < < 0 / 0 > 9�/ >�2Z: . > 8 2 .
3 / 2 / 4�0 9 G > 5 ?�2 / 0 > 9 L
2 /�4 6 4 5 ;=9 > < 4*/ 7 4�@ 5 > / > 1 > .
?�2 0 9 / 2 0 9 3f/ 7 4^?�4 ?�8 4 5 3 7 0 @j0 9 G > 5 ?�2 / 0 > 9O> G
4 6 4 5 ;�?�- . / 0 1 2 3 /I: 5 > - @H0 9=/ 7 4*5 > - / 0 9 :=< > ?�2 0 9 A



<
5 > - @�?�4 ?�8 4 5 3 7 0 @�1 7 2 9 : 4 3
0 9�2
subnetwork2 5 4 < 4 / 4 1 / 4 <�8 ;�2 . > 1 2 .�5 > - / 4 5 L�PX7 0 1 7

8 5 > 2 < 1 2 3 / 3!/ 7 4
0 9 G > 5 ?�2 / 0 > 9�/ >�2 . .
> / 7 4 5I9 > < 4 3 A
<
0 6 4 9+2 . .�\ 9 > P
. 4 < : 4J> G=9 4 / P
> 5 \N3 / 2 / 4E2 9 <
: 5 > - @�?�4 ?�8 4 5 3 7 0 @ L�2 9 ;�9 > < 4!1 2 9
1 > ?�@ - / 4!/ 7 4
3 7 > 5 / 4 3 / M @ 2 / 7Z?�- . / 0 1 2 3 /&/ 5 4 4�G 5 > ?+2Z3 > - 5 1 4�/ >*2
: 5 > - @�> G+< 4 3 / 0 9 2 / 0 > 9 3+8 ;^- 3 0 9 :

Dijkstra’s2 . : > 5 0 / 7 ?ZAeD - 1 7�2�@ 5 > / > 1 > .#1 2 9*8 4
4 2 3 0 . ;Z- 3 4 <
G > 5&< 4 . 2 ; M 1 > 9 3 / 5 2 0 9 4 <I?�- . / 0 1 2 3 / 5 > - / 0 9 : A

3.2
� * 7$"$# 0  � ;�/ � / / "$2 0 .$ � )4!�0  ��  � 0 3�� #���# � ��8E# "$:�* � ;

B&7 4�2 . : > 5 0 / 7 ?_@ 5 > @ > 3 4 <H8 ;��!> - L
Markowski2 9 <Ew
4 5 ?�2 9fk �
,�w
m�t � uH2 9 <]/ 7 4J2 . : > 5 0 / 7 ?

@ 5 > @ > 3 4 <*8 ;*B#2 \ 2 7 2 3 7 0
2 9 <*,�2 / 3 - ; 2 ?�2*k B&,�m
t � ue2 5 4X- 3 4 <!/ >�3 > . 6 4
D / 4 0 9 4 5e/ 5 4 4X@ 5 > 8 . 4 ?ZA
D / 4 0 9 4 5I/ 5 4 4Z0 3I/ 7 4*. 4 2 3 / M 1 > 3 /
/ 5 4 4Z/ 7 2 /I3 @ 2 9 3�2
: 0 6 4 9O3 - 8 3 4 /+> G+9 > < 4 3 AWD / 5 0 1 / . ;O3 @ 4 2 \ 0 9 : L
G 0 9 < 0 9 :W2HD / 4 0 9 4 5�/ 5 4 4H0 3�9 > /Z2�C!> DE5 > - / 0 9 :
@ 5 > 8 . 4 ?
A 	!> P
4 6 4 5 LQ/ 7 4 7 4 - 5 0 3 / 0 1 3TG > 5
1 > 9 3 / 5 - 1 / 0 9 :K2]D / 4 0 9 4 5�/ 5 4 4]7 2 6 4 2+< 0 5 4 1 /
0 ?I@ 2 1 /�> 9K7 > PO/ >N1 > 9 3 / 5 - 1 /�2+1 > 9 3 / 5 2 0 9 4 <
D / 4 0 9 4 5�/ 5 4 4 A
��� G��
	���
�� � O � J I ���
�
,�w]G 0 5 3 /I2 8 3 / 5 2 1 / 3�2*9 4 / P!> 5 \�/ >=2*1 > ?�@ . 4 / 4
: 5 2 @ 7 LIPX7 4 5 4�/ 7 4�9 > < 4 3Z5 4 @ 5 4 3 4 9 /�/ 7 4H3 > - 5 1 4
2 9 <=< 4 3 / 0 9 2 / 0 > 9 3 LX2 9 <=/ 7 4�4 < : 4 3�5 4 @ 5 4 3 4 9 /!/ 7 4
5 4 @ 5 4 3 4 9 / / 7 4I3 7 > 5 / 4 3 / @ 2 / 7 3#2 ?�> 9 :�3 > - 5 1 4
9 > < 4
2 9 <f< 4 3 / 0 9 2 / 0 > 9f9 > < 4 3 A*B&7 4 9��
,�wp2 @ @ . 0 4 3
, 5 0 ?Zc 3
2 . : > 5 0 / 7 ?
3 t l � u&/ >
1 > 9 3 / 5 - 1 /&2I?�0 9 0 ?�- ?
3 @ 2 9 9 0 9 :Z/ 5 4 4�0 9*/ 7 4
1 > ?�@ . 4 / 4Z: 5 2 @ 7 L�2 9 <�/ 7 4
D / 4 0 9 4 5#/ 5 4 4I> G�/ 7 4I> 5 0 : 0 9 2 . 9 4 / P
> 5 \
0 3X> 8 / 2 0 9 4 <
8 ;_4 [ @ 4 9 < 0 9 :N/ 7 4f4 < : 4 3E> GW/ 7 4f?�0 9 0 ?�- ?
3 @ 2 9 9 0 9 :f/ 5 4 4]0 9 / >f/ 7 4f3 7 > 5 / 4 3 /H@ 2 / 7 3W/ 7 4 ;
5 4 @ 5 4 3 4 9 / A Y!9 ;*. > > @ 3!1 2 - 3 4 <*8 ;*/ 7 4
4 [ @ 2 9 3 0 > 9
2 5 4X5 4 ?�> 6 4 < A
��� G � 	�
�� � O � J I � �
B&, 2 . : > 5 0 / 7 ?pG 0 9 < 3�2JD / 4 0 9 4 5=/ 5 4 4W8 ;+2 9
0 9 1 5 4 ?�4 9 / 2 . 2 @ @ 5 > 2 1 7 1 2 . . 4 < 9 4 2 5 4 3 /
< 4 3 / 0 9 2 / 0 > 9KG 0 5 3 / k ��R!xem AZ` 9 0 / 0 2 . . ; L*/ 7 4E9 4 2 5 4 3 /
< 4 3 / 0 9 2 / 0 > 9 k 0 9
/ 7 4�/ 4 5 ?
3
> G�1 > 3 / m#/ >
/ 7 4
3 > - 5 1 4
0 3!G > - 9 <*2 9 <Z/ 7 4�. 4 2 3 / M 1 > 3 /&@ 2 / 7*8 4 / P!4 4 9*/ 7 4 ?
3 4 . 4 1 / 4 < A�B&7 4 9]2 /�4 2 1 7E0 / 4 5 2 / 0 > 9E/ 7 4W9 4 2 5 4 3 /
- 9 1 > 9 9 4 1 / 4 <g< 4 3 / 0 9 2 / 0 > 9g/ >Q/ 7 4�@ 2 5 / 0 2 . . ;
1 > 9 3 / 5 - 1 / 4 <H/ 5 4 4�0 3ZG > - 9 <�2 9 <H2 < < 4 <H0 9 / >H/ 7 4
/ 5 4 4 A]B&7 0 3�@ 5 > 1 4 3 3^0 3^5 4 @ 4 2 / 4 <S- 9 / 0 .N2 . .
< 4 3 / 0 9 2 / 0 > 9 3&2 5 4X0 9 1 . - < 4 <!0 9I/ 7 4X/ 5 4 4 A

3.3
� * 7$"$# 0  � ;�/ � / / "$2 0 .$ � )4!�0  �
-�"$3�/  # .$0 3�� ) �  � 0 3�� #���# � �
Problem

B&7 4ID / 4 0 9 4 5#/ 5 4 4!@ 5 > 8 . 4 ?E7 2 3#8 4 4 9Z4 [ / 4 9 < 4 <�/ >
0 9 1 . - < 4W> / 7 4 5�3 0 < 4J1 > 9 3 / 5 2 0 9 / 3 L
G > 5H4 [ 2 ?I@ . 4 L
< 4 . 2 ; L!< 4 . 2 ;�= 0 / / 4 5 L!> 5Z2=1 > ?I8 0 9 2 / 0 > 9�/ 7 4 5 4 > G A
B&7 4 3 4r@ 5 > 8 . 4 ?�3S2 5 4 ��,eM 1 > ?I@ . 4 / 4 L^?�> 3 /
2 . : > 5 0 / 7 ?
3�0 9I/ 7 0 3�1 2 / 4 : > 5 ;I2 5 4!3 > - 5 1 4X5 > - / 0 9 : A
xe> - 5&2 . : > 5 0 / 7 ?
3&2 5 4
< 0 3 1 - 3 3 4 <I8 4 . > PIA
��� G��
����
�� � O � J I � �
�!> ?�@ 4 . . 2 L ,�2 3 F - 2 . 4 2 9 <

Polyzos(KPP)@ 5 > @ > 3 4 <�/ 7 0 3
2 . : > 5 0 / 7 ?
t l l u A ` 9���,@,�L�/ 7 4�G 0 5 3 /
3 / 4 @�0 3I/ >�1 5 4 2 / 4Z2*1 > ?�@ . 4 / 4*: 5 2 @ 7 L#PX7 4 5 4Z/ 7 4
9 > < 4 3*5 4 @ 5 4 3 4 9 /
/ 7 4W3 > - 5 1 4�2 9 <W< 4 3 / 0 9 2 / 0 > 9 3 L
2 9 <�/ 7 4Z4 < : 4 3I5 4 @ 5 4 3 4 9 /
/ 7 4*< 4 . 2 ; M 1 > 9 3 / 5 2 0 9 4 <
. 4 2 3 / M 1 > 3 /&@ 2 / 7 3X8 4 / P
4 4 9
/ 7 4 3 4�9 > < 4 3 A B&7 4�. 0 9 \
< 4 . 2 ; 3�2 5 4�2 3 3 - ?�4 <J/ >J8 4�0 9 / 4 : 4 5 3 L
2 9 <J/ 7 4
< 4 . 2 ;J1 > 9 3 / 5 2 0 9 /Z2 . P!2 ; 3�8 > - 9 < 4 < L�3 >E3 - 1 7J2
1 > ?�@ . 4 / 4Q: 5 2 @ 7 1 2 9g8 4s1 > 9 3 / 5 - 1 / 4 <Q0 9
@ > . ; 9 > ?I0 2 .E/ 0 ?�4 A�B&7 4�3 4 1 > 9 <O3 / 4 @j0 3f/ >
1 > 9 3 / 5 - 1 /X2
< 4 . 2 ; M 1 > 9 3 / 5 2 0 9 4 <�3 @ 2 9 9 0 9 :Z/ 5 4 4

of/ 7 4�1 > ?I@ . 4 / 4�: 5 2 @ 7eAXD / 2 5 / 0 9 :HPX0 / 7H/ 7 4=3 > - 5 1 4
9 > < 4 L!/ 7 4=/ 5 4 4=0 3*0 9 1 5 4 ?�4 9 / 2 . . ;W4 [ @ 2 9 < 4 <�8 ;
2 < < 0 9 :r2 9�4 < : 4p4 2 1 7r/ 0 ?�4p- 9 / 0 .�4 6 4 5 ;
< 4 3 / 0 9 2 / 0 > 9I9 > < 4
0 3&0 9 1 . - < 4 < A B&7 4I3 4 . 4 1 / 4 <�4 < : 4
0 3&> 9 4X/ 7 2 / h
• � > 9 9 4 1 / 3Z2�9 > < 4�0 9H/ 7 4�/ 5 4 4�2 9 <�2�9 > < 4> - / 3 0 < 4
> G / 7 4X/ 5 4 4
•

RI> 4 3�9 > / 6 0 > . 2 / 4X/ 7 4
< 4 . 2 ;�1 > 9 3 / 5 2 0 9 /
•
,�0 9 0 ?�0 V 4
2!3 4 . 4 1 / 0 > 9�G - 9 1 / 0 > 9

B#P
>H3 4 . 4 1 / 0 > 9=G - 9 1 / 0 > 9 3�2 5 4*1 > 9 3 0 < 4 5 4 < A �
9 4
0 3
3 0 ?�@ . ;�/ 7 4�1 > 3 /I> G!/ 7 4*4 < : 4 L#2 9 <�/ 7 4*> / 7 4 5
/ 5 0 4 3I/ >�?�2 \ 4Z2Z/ 5 2 < 4 M > G G!8 4 / P
4 4 9�?�0 9 0 ?�0 V 0 9 :
/ 7 4*1 > 3 /!2 9 <=?�0 9 0 ?�0 V 0 9 :�/ 7 4*< 4 . 2 ; A&B&7 4*/ 7 0 5 <
3 / 4 @*0 3
/ >*4 [ @ 2 9 <Z/ 7 4�4 < : 4 3!> GX/ 7 4
1 > 9 3 / 5 2 0 9 4 <
3 @ 2 9 9 0 9 :Z/ 5 4 4�0 9 / >Z/ 7 4
< 4 . 2 ; M 1 > 9 3 / 5 2 0 9 4 <*. 4 2 3 / M
1 > 3 /X@ 2 / 7 3!/ 7 4 ;*@ 5 4 3 4 9 / A�Y
9 ;=. > > @ 3�1 2 - 3 4 <�8 ;
/ 7 0 3&4 [ @ 2 9 3 0 > 9I0 3�5 4 ?�> 6 4 < A
��� G�������
�� � O � J I � �
��7 - L ,e2 5 3 2�2 9 <

Garcia-Luna-Aceves(ZPG)[12]@ 5 > @ > 3 4 <�/ 7 0 3Z@ 5 > 8 . 4 ?ZA��$,$<_2 . . > PI3�6 2 5 0 2 8 . 4
< 4 . 2 ;=8 > - 9 < 3�/ >H< 4 3 / 0 9 2 / 0 > 9 3 A#Y_3 7 > 5 / 4 3 / M @ 2 / 7
/ 5 4 4X0 9I/ 7 4
/ 4 5 ?
3&> G�< 4 . 2 ;I0 3#G 0 5 3 /e1 > 9 3 / 5 - 1 / 4 <�8 ;
R!0 = \ 3 / 5 2 c 3�2 . : > 5 0 / 7 ?ZA ` G / 7 4
< 4 . 2 ;�1 > 9 3 / 5 2 0 9 /e1 2 9
9 > /&8 4�3 2 / 0 3 G 0 4 <ZG > 5
2 9 ;*< 4 3 / 0 9 2 / 0 > 9 L 0 /&?�- 3 /&8 4
5 4 9 4 : > / 0 2 / 4 < n > / 7 4 5 PX0 3 4 L�/ 7 4 2 . : > 5 0 / 7 ?
@ 5 > 1 4 4 < 3�8 ;W0 / 4 5 2 / 0 6 4 . ;J5 4 G 0 9 0 9 :W/ 7 4�/ 5 4 4�G > 5
. > P
4 5
1 > 3 / A B&7 4�8 2 3 0 1I0 < 4 2�0 3X/ >
5 4 @ . 2 1 4�2�@ 2 / 7
0 9�/ 7 4=/ 5 4 4=8 ;�2 9 > / 7 4 5*@ 2 / 7WP
0 / 7W. > P!4 5�1 > 3 /
- 9 . 4 3 3Z3 - 1 7H2*5 4 @ . 2 1 4 ?�4 9 /I1 2 9H9 > /I8 4�G > - 9 < A
B&7 4U2 . : > 5 0 / 7 ?b2 . P
2 ; 3sG 0 9 < 3Q2U< 4 . 2 ; M
1 > 9 3 / 5 2 0 9 4 <I/ 5 4 4 k @ 5 > 8 2 8 . ;I9 > /e. 4 2 3 / M 1 > 3 / m L 0 G�> 9 4
4 [ 0 3 / 3 LI8 4 1 2 - 3 4H0 /*3 / 2 5 / 3�PX0 / 7J2W3 7 > 5 / 4 3 / M @ 2 / 7
tree.

��� G��� !
�� � O � J I ���
D - 9�2 9 <^i&2 9 : 4 9 < > 4 5 G 4 5 k D i&m t l � u!@ 5 > @ > 3 4 <�2 9
2 . : > 5 0 / 7 ?jP
7 0 1 7J1 > 9 3 / 5 - 1 / 3�2 9E2 @ @ 5 > [ 0 ?�2 / 4 <



1 > 9 3 / 5 2 0 9 4 < D / 4 0 9 4 5R/ 5 4 4�8 ;
Dijkstra’s2 . : > 5 0 / 7 ?ZAX` /�G 0 5 3 /�1 > ?�@ - / 4 3
/ 7 4H3 7 > 5 / 4 3 / M @ 2 / 7

/ 5 4 4
0 9�/ 4 5 ?
3&> G�1 > 3 / A �I2 ?�4 . ; L / 7 4I1 > 3 /�> G�4 6 4 5 ;
@ 2 / 7I0 9I/ 7 4X/ 5 4 4!G 5 > ?�/ 7 4!3 > - 5 1 4
/ >�2!< 4 3 / 0 9 2 / 0 > 9
0 3�?�0 9 0 ?�0 V 4 < AIB&7 4 9J/ 7 4�/ 5 4 4�0 3�?�> < 0 G 0 4 <J/ >
3 2 / 0 3 G ;�/ 7 4�< 4 . 2 ;=1 > 9 3 / 5 2 0 9 / A&` G!/ 7 4*4 9 < M / > M 4 9 <
< 4 . 2 ;�/ >
2 9 ;�< 4 3 / 0 9 2 / 0 > 9�0 9�/ 7 4!/ 5 4 4I6 0 > . 2 / 4 3#/ 7 4
< 4 . 2 ;W1 > 9 3 / 5 2 0 9 / L!/ 7 4H?�0 9 0 ?�- ?�M < 4 . 2 ;�@ 2 / 7W0 3
- 3 4 <N5 4 @ . 2 1 4K/ 7 4f?�0 9 0 ?�- ?�M 1 > 3 /W@ 2 / 7 A=B&7 4
2 < 6 2 9 / 2 : 4W> G�/ 7 4W2 . : > 5 0 / 7 ?O0 3=0 / 3H. > P^/ 0 ?�4
1 > ?�@ . 4 [ 0 / ; L

O(vlogv),
PX7 0 1 7W0 3�/ 7 4�3 2 ?�4�2 3

R!0 = \ 3 / 5 2 c 3�2 . : > 5 0 / 7 ?ZA
��� G � J � � O N O�
�� � O � J I � �

Widyono
t l � uQ@ 5 > @ > 3 4 < 3 4 6 4 5 2 .�7 4 - 5 0 3 / 0 1

2 . : > 5 0 / 7 ?
3JG > 5�/ 7 4+1 > 9 3 / 5 2 0 9 4 <ND / 4 0 9 4 5�/ 5 4 4
@ 5 > 8 . 4 ?
A B&7 4I> 9 4�PX0 / 7�/ 7 4!8 4 3 /e@ 4 5 G > 5 ?�2 9 1 4!0 3
1 2 . . 4 <�/ 7 4 1 > 9 3 / 5 2 0 9 4 <s2 < 2 @ / 0 6 4r> 5 < 4 5 0 9 :
7 4 - 5 0 3 / 0 1 A�Y!/�4 2 1 7K3 / 4 @ L
2W1 > 9 3 / 5 2 0 9 4 <Ew
4 . . M
?�2 9 M xe> 5 <�2 . : > 5 0 / 7 ?�0 3
- 3 4 <H/ >�G 0 9 <�2=< 4 . 2 ; M
1 > 9 3 / 5 2 0 9 4 <�. 4 2 3 / M 1 > 3 / @ 2 / 7�G 5 > ?J/ 7 4I3 > - 5 1 4
/ >�2
< 4 3 / 0 9 2 / 0 > 9I/ 7 2 / 0 3�9 > / ; 4 / 0 9I/ 7 4
/ 5 4 4 A B&7 4!G > - 9 <
@ 2 / 7�2 3&P!4 . . 2 3&/ 7 4!< 4 3 / 0 9 2 / 0 > 9�2 5 4
/ 7 4 9�0 9 3 4 5 / 4 <
0 9 / >�/ 7 4!/ 5 4 4 A B&7 4I1 > 3 /�> G&. 0 9 \ 3#0 9�/ 7 4!/ 5 4 4!0 3
3 4 /
/ >�V 4 5 > AXB&7 4=2 8 > 6 4�@ 5 > 1 4 3 3
5 4 @ 4 2 / 3Z- 9 / 0 .I/ 7 4
/ 5 4 4
1 > 6 4 5 3&2 . . < 4 3 / 0 9 2 / 0 > 9 3 A

3.4 ����� 6�� � * 7$"$# 0  � ;
�X> - 3 \ 2 3f2 9 <

Baldine
k �Xw
m t l � u+@ 5 > @ > 3 4 <v2

7 4 - 5 0 3 / 0 1�G > 5
1 > 9 3 / 5 - 1 / 0 9 :=2�< 4 . 2 ; M < 4 . 2 ; M = 0 / / 4 5 M
1 > 9 3 / 5 2 0 9 4 <Z?�- . / 0 1 2 3 /&/ 5 4 4 A B&7 4�/ 5 4 4�?�- 3 /#7 2 6 4
8 > - 9 < 4 <�< 4 . 2 ;�2 . > 9 :I/ 7 4!@ 2 / 7 3#G 5 > ?E/ 7 4�3 > - 5 1 4
/ >�/ 7 4N< 4 3 / 0 9 2 / 0 > 9 3+2 9 <�8 > - 9 < 4 <^6 2 5 0 2 / 0 > 9
2 ?�> 9 :f/ 7 4f< 4 . 2 ; 3E2 . > 9 :N/ 7 4 3 4+@ 2 / 7 3 A�B&7 4
3 7 > 5 / 4 3 /&@ 2 / 7Z/ 5 4 4�0 9Z/ 7 4�/ 4 5 ?
3!> G
< 4 . 2 ;Z0 3!G 0 5 3 /
1 > 9 3 / 5 - 1 / 4 <E8 ; R!0 = \ 2 3 / 5 2 c 3H2 . : > 5 0 / 7 ?ZA�` G�/ 7 4
/ 5 4 4*< > 4 3�9 > /
?�4 4 /!/ 7 4*< 4 . 2 ;�= 0 / / 4 5�1 > 9 3 / 5 2 0 9 / L
/ 7 4
2 . : > 5 0 / 7 ?WG 0 9 < 3�/ 7 4
. 2 5 : 4 3 / M < 4 . 2 ;I@ 2 / 7I0 9�/ 7 4
3 7 > 5 / 4 3 /�@ 2 / 7N/ 5 4 4KG 5 > ? / 7 4f3 > - 5 1 4+/ >_2
< 4 3 / 0 9 2 / 0 > 9 LW2 9 <j3 / 2 5 / 3NG 5 > ?g/ 7 2 /]@ 2 / 7�/ >
0 9 1 5 4 ?�4 9 / 2 . . ;�1 > 9 3 / 5 - 1 /e2IG 4 2 3 0 8 . 4
/ 5 4 4 A Y!/�4 2 1 7
0 / 4 5 2 / 0 > 9 L 2�� : > > < �
@ 2 / 7�G 5 > ?E2
9 > < 4
0 9�/ 7 4
/ 5 4 4
/ >H2�< 4 3 / 0 9 2 / 0 > 9�> - /I> G�/ 7 4*/ 5 4 4�0 3
G > - 9 <�2 9 <
2 < < 4 <v0 9 / >v/ 7 4^/ 5 4 4 AWB&7 4^@ 2 / 7j?�- 3 /+8 4
1 > ?�@ . 4 / 4 . ;
< 0 3 = > 0 9 /&G 5 > ?J/ 7 4I/ 5 4 4�2 9 <
?�- 3 /&9 > /
1 2 - 3 4�/ 7 4�/ 5 4 4*/ >H6 0 > . 2 / 4�/ 7 4�1 > 9 3 / 5 2 0 9 / 3 A#B&7 4
2 8 > 6 4I@ 5 > 1 4 3 3#5 4 @ 4 2 / 3X- 9 / 0 .�2 . .�< 4 3 / 0 9 2 / 0 > 9 3
2 5 4
0 9 1 . - < 4 <*0 9�/ 7 4
/ 5 4 4 AeB&7 4Z2 - / 7 > 5 3�3 7 > P
4 <*/ 7 2 /
/ 7 4�7 4 - 5 0 3 / 0 1�< 4 ?�> 9 3 / 5 2 / 4 3*: > > <�2 6 4 5 2 : 4 M 1 2 3 4
8 4 7 2 6 0 > 5U0 9 / 4 5 ?
3R> G / 7 4�?�2 [ 0 ?�- ?
0 9 / 4 5 < 4 3 / 0 9 2 / 0 > 9�< 4 . 2 ;�6 2 5 0 2 / 0 > 9eA
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� ��� � � � ������
 � ������	 ��� � � 
 ���(�
-BSMA

,�- . / 0 1 2 3 /�/ 5 4 4]1 > 9 3 / 5 - 1 / 0 > 9+0 3�8 4 1 > ?I0 9 :+2 9
0 9 / 4 : 5 2 . @ 2 5 / > Ge?�- . / 0 ?�4 < 0 2!2 @ @ . 0 1 2 / 0 > 9
3 - @ @ > 5 / A
	!4 9 1 4 LI?�> 5 4�2 / / 4 9 / 0 > 9�0 3�1 > ?�0 9 :�/ >W7 > PN/ >
1 > 9 3 / 5 - 1 /*3 - 1 7W?�- . / 0 1 2 3 /�/ 5 4 4 3 A_B&7 0 3�3 4 1 / 0 > 9
0 9 / 5 > < - 1 4 3H2J3 > - 5 1 4 M 8 2 3 4 <E5 > - / 0 9 :]2 . : > 5 0 / 7 ?
9 2 ?�4 < w
> - 9 < 4 < D 7 > 5 / 4 3 / ,�- . / 0 1 2 3 /
Y!. : > 5 0 / 7 ?
k w
D ,�YIm t l o u
G > 5
/ 7 4
1 > 9 3 / 5 - 1 / 0 > 9�> G
< 4 . 2 ; M 8 > - 9 < 4 <I?�0 9 0 ?�- ?�M 1 > 3 / ?�- . / 0 1 2 3 / / 5 4 4 3 A
�
9 4�@ - 5 @ > 3 4�> G�/ 7 0 3Z3 4 1 / 0 > 9H0 3
/ >�3 4 5 6 4=2 3Z2
: - 0 < 4 . 0 9 4
> G&3 > . 6 0 9 :I?�- . / 0 1 2 3 / 5 > - / 0 9 :I@ 5 > 8 . 4 ?
h
G 0 5 3 /
?�> < 4 . 0 9 :�2Z9 4 / P
> 5 \=2 9 <=G > 5 ?�- . 2 / 0 9 :�/ 7 4
@ 5 > 8 . 4 ?�LZ/ 7 4 9+1 > 9 3 / 5 - 1 / 0 9 :]2J?�- . / 0 1 2 3 /�/ 5 4 4
PX0 / 7�3 > ?�4N1 > 9 3 / 5 2 0 9 / 3+3 - 1 7^2 3]4 9 < M / > M 4 9 <
< 4 . 2 ; L=2 9 <N5 4 @ 4 2 / 4 < . ;N5 4 G 0 9 0 9 :N/ 7 4K/ 5 4 4+/ >
> @ / 0 ?�0 V 4X0 / A

4.1 ���  !�"$# %'&("$)�� * .$3�)�8�# "$:�* � ;
Formulation

` 9W/ 7 4H9 4 / P!> 5 \J?�> < 4 .
< 4 3 1 5 0 8 4 <W0 9
2.1
LI/ 7 4

9 > < 4 3�0 9�3 4 /
V
1 2 9�8 4�> G!/ 7 4�G > . . > P
0 9 :�/ 7 5 4 4

types:
•
D > - 5 1 4Z9 > < 4 h#/ 7 4�9 > < 4�1 > 9 9 4 1 / 0 9 :�/ >=/ 7 4
3 > - 5 1 4X/ 7 2 /�3 4 9 < 3�> - / / 7 4
< 2 / 2!3 / 5 4 2 ?ZA

•
RI4 3 / 0 9 2 / 0 > 9H9 > < 4 hX/ 7 4�9 > < 4=1 > 9 9 4 1 / 0 9 :H2
< 4 3 / 0 9 2 / 0 > 9=/ 7 2 /!5 4 1 4 0 6 4 3�/ 7 4�< 2 / 2=3 / 5 4 2 ?
A
B&7 4�3 4 /�> G&< 4 3 / 0 9 2 / 0 > 9�9 > < 4 3&0 9
2I?�- . / 0 1 2 3 /
/ 5 4 4X0 3&< 4 9 > / 4 <!8 ;

D⊆V-s.
•

�X4 . 2 ;�9 > < 4 h 2I9 > < 4I/ 7 2 /�0 3X2 9
0 9 / 4 5 ?�4 < 0 2 / 4
7 > @+0 9+/ 7 4W@ 2 / 7+G 5 > ?p/ 7 4]3 > - 5 1 4J/ >+2
destination.B#P
>�@ > 3 0 / 0 6 4I5 4 2 . M 6 2 . - 4 <
G - 9 1 / 0 > 9 3X2 5 4�< 4 G 0 9 4 <

> 9
E
h

 �J N 
�� ��O P I L�M@N H I J O N$Q
(c:E→ℜ+)B&7 4Z1 > 3 /
> G!2Z. 0 9 \�1 2 9�8 4Z2 3 3 > 1 0 2 / 4 <�PX0 / 7�/ 7 4

- / 0 . 0 V 2 / 0 > 9]> G�/ 7 4W. 0 9 \en
2�7 0 : 7]- / 0 . 0 V 2 / 0 > 9E0 3
5 4 @ 5 4 3 4 9 / 4 <!8 ;�2X7 0 : 7 4 5&. 0 9 \�1 > 3 / A

 �J N 
�� �EG � � ��L$M@N H I J O N
:(d: E→ℜ+)B&7 4I< 4 . 2 ;�> G&2I. 0 9 \�0 3&/ 7 4�3 - ?E> G&/ 7 4!@ 4 5 1 4 0 6 4 <

F - 4 - 0 9 : < 4 . 2 ; Lv/ 5 2 9 3 ?�0 3 3 0 > 9R< 4 . 2 ; Lj2 9 <
@ 5 > @ 2 : 2 / 0 > 9�< 4 . 2 ;I> 6 4 5e/ 7 2 / . 0 9 \ A
i&4 /

D
8 4!/ 7 4�3 4 /&> G#< 4 3 / 0 9 2 / 0 > 9 3 A xe> 5
4 2 1 7
@ 2 / 7

G 5 > ?
s
/ >�2�< 4 3 / 0 9 2 / 0 > 9
9 > < 4

v∈D
L / 7 4�< 4 . 2 ;
> G

/ 7 4
@ 2 / 7 L > 5&@ 2 / 7�< 4 . 2 ;�0 3#< 4 G 0 9 4 <�/ >�8 4
/ 7 4�3 - ?
> G�. 0 9 \�< 4 . 2 ; 3
2 . > 9 :=/ 7 4*@ 2 / 7 A#B&7 4�G > . . > PX0 9 :
G - 9 1 / 0 > 9I0 3&< 4 G 0 9 4 <I> 9I/ 7 4!3 4 / > Ge< 4 3 / 0 9 2 / 0 > 9 3

D:�EG P I J N � I J O N��EG � � � � ��O M@N �9L�M@N H I J O N > 5�R�R!x&h
(δ:D→ℜ+)R�R!xf2 3 3 0 : 9 3H2 9E- @ @ 4 5=8 > - 9 <]/ >]/ 7 4J< 4 . 2 ;
2 . > 9 :�/ 7 4N@ 2 / 7�G 5 > ?Q/ 7 4�3 > - 5 1 4N/ >�4 2 1 7
< 4 3 / 0 9 2 / 0 > 9�0 9

D
A δ(i)

1 2 9�8 4*< 0 G G 4 5 4 9 /!G 5 > ?
δ(j)
G > 5*< 4 3 / 0 9 2 / 0 > 9 3

i≠j
AX` G�R�R!xE2 3 3 0 : 9 3Z/ 7 4

3 2 ?�4�- @ @ 4 5�8 > - 9 <H< 4 . 2 ;=/ >�4 2 1 7�< 4 3 / 0 9 2 / 0 > 9 L
/ 7 4X- @ @ 4 5e8 > - 9 <�0 3�< 4 9 > / 4 <I8 ; δ(i)=∆� ∀i∈D.



Y RI4 . 2 ; M 8 > - 9 < 4 <v,�0 9 0 ?�- ? D / 4 0 9 4 5NB&5 4 4
(DMST

m�@ 5 > 8 . 4 ?�0 3�< 4 G 0 9 4 <�2 3 h
��	�� � � � O D � G � P h � � � � ����� 	 � 
���
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�
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�
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�
� � "(�%'�'�)

�� � � ��� � � � � 	  � �*�+'-,%. /�� 
�� � � � � ��'
∪ 0 � 1 � �  � �� � � ��� � �+� � � � �  � � � � � �2� �+� � �+� 	 � ��� ��3+� � � 3+� 4 � � �

� � � � �&'�'�)(� ��� � � � � � � � " 5

4.2 >'A$� # A$0 � ! "@1 � � & �
w
D ,�YS2 3 3 - ?�4 3J/ 7 2 /�/ 7 4f3 > - 5 1 4+9 > < 4+7 2 3
1 > ?�@ . 4 / 4J0 9 G > 5 ?�2 / 0 > 9+5 4 : 2 5 < 0 9 :+2 . .�9 4 / P
> 5 \
. 0 9 \ 3#/ >
1 > 9 3 / 5 - 1 /�2!?�- . / 0 1 2 3 /e/ 5 4 4 L 7 4 9 1 4!0 /e0 3X2
3 > - 5 1 4X5 > - / 0 9 :�2 . : > 5 0 / 7 ?ZA B&7 0 3�5 4 F - 0 5 4 ?�4 9 /e1 2 9
8 4J3 - @ @ > 5 / 4 <E- 3 0 9 :E> 9 4W> G�?�2 9 ;E/ > @ > . > : ; M
8 5 > 2 < 1 2 3 /I2 . : > 5 0 / 7 ?
3 LXP
7 0 1 7=1 2 9=8 4Z8 2 3 4 <=> 9
G . > > < 0 9 : k 2 3*/ 7 4H1 2 3 4=0 9 �!D ,exE2 9 <�` D M ` D m*> 5
> / 7 4 5�/ 4 1 7 9 0 F - 4 3 A
w
D ,�Y 0 3_8 2 3 4 <p> 9p/ 7 4jG 4 2 3 0 8 . 4O3 4 2 5 1 7
> @ / 0 ?�0 V 2 / 0 > 9=?�4 / 7 > < A&B&7 0 3�?�4 / 7 > <=?�0 9 0 ?�0 V 4 3
/ 7 4]> 8 = 4 1 / 0 6 4]G - 9 1 / 0 > 9N1 > 9 3 / 5 2 0 9 4 <K0 9 3 0 < 4]2
G 4 2 3 0 8 . 4I5 4 : 0 > 9eA B&7 4�G 4 2 3 0 8 . 4I5 4 : 0 > 9 ℜb

G > 5X/ 7 4
w
D ,�YH@ 5 > 8 . 4 ?W1 > 9 3 0 3 / 3&> Ge/ 7 4�3 4 /e> G�2 . . < 4 . 2 ; M
8 > - 9 < 4 <�D / 4 0 9 4 5
/ 5 4 4 3 AXw
D ,�Y�3 / 2 5 / 3*PX0 / 7�2 9
0 9 0 / 0 2 .
/ 5 4 4

To∈ℜb
L
2 9 <=0 / 4 5 2 / 0 6 4 . ;H5 4 G 0 9 4 3
/ 7 4

/ 5 4 4
G > 5I. > PJ1 > 3 /XP
7 0 . 4Z3 / 2 ; 0 9 :*0 9*/ 7 4
G 4 2 3 0 8 . 4
region.

w
D ,�YJ1 > 9 3 0 3 / 3X> G&/ P!>
?�2 = > 5!3 / 4 @ 3 L 2
3 \ 4 . 4 / > 9
G . > P!1 7 2 5 / 0 3#3 7 > P
9I0 9Ix 0 : - 5 4

1.

D / 4 @Hl�1 > 9 3 / 5 - 1 / 3
/ 7 4�0 9 0 / 0 2 .&/ 5 4 4
T0

P
7 0 1 7*0 3!2
?�0 9 0 ?�- ?�M < 4 . 2 ;JD / 4 0 9 4 5*/ 5 4 4 L�PX0 / 7�5 4 3 @ 4 1 /�/ >
/ 7 4I?�- . / 0 1 2 3 /#3 > - 5 1 4 L - 3 0 9 :�R!0 = \ 2 3 / 5 2 c 3!3 7 > 5 / 4 3 /
@ 2 / 7�2 . : > 5 0 / 7 ?
A D / 4 @�o�/ 7 4 9�0 / 4 5 2 / 0 6 4 . ;�5 4 G 0 9 4

T0G > 5I. > PE1 > 3 / Aex 0 : - 5 4
2
0 3I2 9�4 [ 2 ?�@ . 4
9 4 / P
> 5 \

2 9 <rx 0 : - 5 4
3
3 7 > P!3j/ 7 4 1 > 5 5 4 3 @ > 9 < 0 9 :

?�0 9 0 ?�- ?�M < 4 . 2 ;+D / 4 0 9 4 5=/ 5 4 4WG > 5H2W?�- . / 0 1 2 3 /
: 5 > - @I0 9I/ 7 4X9 4 / P
> 5 \eA
` 9Z3 > ?�4I1 2 3 4 3&/ 7 4I< 4 . 2 ;�8 > - 9 < 3
: 0 6 4 9
8 ;�R�R!x
?�2 ;I8 4
/ > >I/ 0 : 7 / L 0 A 4 A L / 7 4 ;�1 2 9�9 > /e8 4!?�4 /e4 6 4 9
0 9�/ 7 4*?�0 9 0 ?�- ?_< 4 . 2 ;�/ 5 4 4

T0 6 ` 9H3 - 1 7=1 2 3 4 3 L3 > ?�4!9 4 : > / 0 2 / 0 > 9�0 3#5 4 F - 0 5 4 <�/ >�. > > 3 4!/ 7 4�< 4 . 2 ;
8 > - 9 < 3#> G@R�RIxZ8 4 G > 5 4!2 9 ;�G 4 2 3 0 8 . 4!/ 5 4 4I1 2 9�8 4
1 > 9 3 / 5 - 1 / 4 < L+2 3�3 7 > PX9S0 9Sx 0 : - 5 4

1
AEB#>

: - 2 5 2 9 / 4 4�/ 7 4W> - / @ - /*/ 5 4 4W0 3H< 4 . 2 ; M 8 > - 9 < 4 < L
3 / 4 @Hl�?�- 3 /#8 4�0 9 6 > \ 4 <�PX0 / 7�5 4 2 3 3 0 : 9 4 <�< 4 . 2 ;
8 > - 9 < 3 L_2 G / 4 5O/ 7 4 9 4 : > / 0 2 / 0 > 9s7 2 3O8 4 4 9
2 1 1 > ?�@ . 0 3 7 4 < A k 0 9
/ 7 4�G > . . > P
0 9 :
0 /&0 3W2 3 3 - ?�4 <
/ 7 2 /�R�R!x�: 0 6 4 3�< 4 . 2 ;�8 > - 9 < 3�/ 7 2 /I7 2 6 4*8 4 4 9
?�4 / 8 ;!/ 7 4X?�0 9 0 ?�- ?�M < 4 . 2 ;I/ 5 4 4

T0).

L$J � M�� G
1 7 L�� O 8�H � � � I@O 9�� � P J H � � � � O � H �M@P G ��J N ��� 	�


L$J � M�� G
2 7 
4N G I 8EO � 
�8�J I � G � H �

link(cost,
delay)

L$J � M�� G
3 7 ��� G�P � O � I G P I � � G � � �
� I G J N G � � � G G



D / 4 @=o�0 / 4 5 2 / 0 6 . 4 ;�5 4 G 0 9 4 3
T0
0 9=2Z?�> 9 > / > 9 > - 3

1 > 3 /
5 4 < - 1 / 0 > 9 AIY�/ 5 4 4�> 8 / 2 0 9 4 <J< - 5 0 9 :J4 2 1 7
5 4 G 0 9 4 ?�4 9 /!0 3�1 2 . . 4 <=2Z/ 5 4 4�1 > 9 G 0 : - 5 2 / 0 > 9 LX2 9 <
j
/ 7�/ 5 4 4H1 > 9 G 0 : - 5 2 / 0 > 9W0 3�< 4 9 > / 4 <�8 ;

Tj
A!B&7 4

5 4 G 0 9 4 ?�4 9 /�G 5 > ?
Tj
/ >

Tj+1
k 0 9 0 / 0 2 . . ; L

j=0
m�0 3

2 1 1 > ?�@ . 0 3 7 4 <N8 ;�2 9�> @ 4 5 2 / 0 > 9�1 2 . . 4 <_@ 2 / 7
switching.

4.3
� � * .�� � "$5�3�)�� )�8�.$ � � !�0  2 ��0 3�7

,e2 / 7f3 P
0 / 1 7 0 9 :]?�4 2 9 3H/ 7 2 /�2J@ 2 / 7+0 9
Tj is5 4 @ . 2 1 4 <*8 ;*2
9 4 PE@ 2 / 7*/ 7 2 /X0 3!9 > /X0 9

Tj
AeB&7 0 3

@ 5 > 1 4 3 3O5 4 3 - . / 3Z0 9W2=9 4 PN/ 5 4 4H1 > 9 G 0 : - 5 2 / 0 > 9
Tj+1
A RI4 . 2 ;�8 > - 9 < 4 <�@ 2 / 7*3 P
0 / 1 7 0 9 :
: - 2 5 2 9 / 4 4 3

/ 7 2 /
Tj+1

0 3&2!< 4 . 2 ;�8 > - 9 < 4 <�/ 5 4 4 A Y
9
4 [ 2 ?�@ . 4!0 3
3 7 > PX9�0 9Jx 0 : - 5 4

4
L P
7 4 5 4
/ 7 4I: > 2 . 0 3#/ >
> 8 / 2 0 9

2 R!,�D B 3 2 / 0 3 G ; 0 9 :g< 4 . 2 ;Q8 > - 9 <
∆=5;2 1 1 > 5 < 0 9 : . ; L 2�@ 2 / 7ZY
wW> G#/ 7 4�/ 5 4 4�0 3I3 P
0 / 1 7 4 <

/ >J2H9 4 P_@ 2 / 7Ww � A!B&7 4�1 > 3 /Z> GZ/ 7 4�/ 5 4 4H0 35 4 < - 1 4 <�G 5 > ? � l�/ >�o � L!PX7 0 . 4�/ 7 4�?�2 [ 0 ?�- ?
@ 2 / 7�< 4 . 2 ;!0 3@��P
7 0 1 7I0 3&3 / 0 . . 8 > - 9 < 4 <!8 ;

∆=5.

L$J � M�� G
4
�EG � � ��D@O M@N � G � � � I � P 8�J I H � J N � Q �

� � I � AB
J P�� G � � � H G ��D � �EN G 8 � � I � BC.

B#>�5 4 @ 5 4 3 4 9 /�/ 7 4�1 2 9 < 0 < 2 / 4I@ 2 / 7 3
1 7 > 3 4 9Z0 9Z/ 7 4
@ 2 / 7E3 P
0 / 1 7 0 9 : L�2�9 4 P_/ 5 4 4H0 3�< 4 G 0 9 4 < AI` /

is< 4 9 > / 4 <I8 ;
T’ j
PX7 0 1 7�0 3&1 2 . . 4 <�1 > . . 2 @ 3 4 <I/ 5 4 4!> G

Tj
A B&7 4!1 > . . 2 @ 3 4 <I/ 5 4 4

T’ j
1 > 9 3 0 3 / 3&> Ge9 > < 4 3�2 9 <

superedges.
•
�I> < 4 3 h B&7 4I3 4 /e> Ge9 > < 4 3#> G*1 > 9 3 0 3 / 3&> Ge/ 7 4
3 > - 5 1 4*9 > < 4�2 9 <H< 4 3 / 0 9 2 / 0 > 9=9 > < 4 3
> G

Tj,2 9 <Z/ 7 > 3 4
9 > < 4 3!> G
Tj
/ 7 2 /X2 5 4
1 > 9 9 4 1 / 4 <

8 ;I?�> 5 4X/ 7 2 9I/ P
>I/ 5 4 4
4 < : 4 3�0 9
Tj
5

•
D - @ 4 5 4 < : 4 3 hZYS3 - @ 4 5 4 < : 4J0 9

T’ j
0 3�/ 7 4

. > 9 : 4 3 /=3 0 ?�@ . 4W@ 2 / 7E0 9
Tj
0 9+P
7 0 1 7]2 . .

0 9 / 4 5 9 2 .I9 > < 4 3*2 5 4�5 4 . 2 ;�9 > < 4 3*2 9 <�4 2 1 7
5 4 . 2 ;�9 > < 4_1 > 9 9 4 1 / 3K4 [ 2 1 / . ;�/ P
>^/ 5 4 4
edges.B#>�5 4 < - 1 4=/ 7 4�1 > 3 /Z> G

Tj
w
D ,�Y^< 4 . 4 / 4 3 2

3 - @ 4 5 4 < : 4 G 5 > ?
T’ j
k PX7 0 1 7s2 ?�> - 9 / 3j/ >

5 4 ?�> 6 0 9 :H2*@ 2 / 7
p
G 5 > ?

Tj
m�5 4 3 - . / 0 9 :=0 9H/ P!>

3 - 8 / 5 4 4 3
Tj

1 2 9 < /
j
2 L�P
7 4 5 4 Tj=

/
j
1∪

/
j
2∪p.w
D ,�Y�/ 7 4 9]G 0 9 < 3H2W< 4 . 2 ; M 8 > - 9 < 4 <+3 7 > 5 / 4 3 /

@ 2 / 7
ps
L / >!5 4 1 > 9 9 4 1 /

Tj
12 9 < Tj

2

,e2 / 7�1 > 3 / 0 3&< 4 G 0 9 4 <I2 3�G > . . > PI3 h
•
xe> 5K- / 0 . 0 V 2 / 0 > 9 M < 5 0 6 4 9v?�- . / 0 1 2 3 / 0 9 : LW/ 7 4
@ 2 / 7�1 > 3 /�0 3
/ 7 4=3 - ?�> G�1 > 3 / 3Z2 . > 9 :H/ 7 0 3
path.

•
xe> 5E1 > 9 : 4 3 / 0 > 9 M < 5 0 6 4 9_?�- . / 0 1 2 3 / 0 9 : L=/ 7 4
@ 2 / 7=1 > 3 /!0 3�/ 7 4�?�2 [ 0 ?�2 .!. 0 9 \H1 > 3 /I2 . > 9 :
/ 7 4X@ 2 / 7 A

B&7 4�1 > 3 /&> G#2�3 - @ 4 5 4 < : 4I0 9
T’ j
0 3X< 4 G 0 9 4 <
/ >
8 4

/ 7 4
1 > 3 /
> G / 7 4
1 > 5 5 4 3 @ > 9 < 0 9 :!@ 2 / 7I0 9
Tj.

YJ< 4 . 2 ; M 8 > - 9 < 4 <N3 7 > 5 / 4 3 /�@ 2 / 7
ps
8 4 / P
4 4 9

Tj
12 9 <

Tj

� 0 3X< 4 G 0 9 4 <
2 3#/ 7 4I@ 2 / 7ZPX0 / 7
/ 7 4
3 ?�2 . . 4 3 /
1 > 3 / L 3 - 8 = 4 1 /�/ >�/ 7 4�1 > 9 3 / 5 2 0 9 /�/ 7 2 /e/ 7 4I9 4 P�/ 5 4 4
Tj+1=

/
j
1∪
/

j
2∪ps
0 3!2
< 4 . 2 ;Z8 > - 9 < 4 <Z/ 5 4 4 A Y
9

4 [ 2 ?I@ . 4X0 3&3 7 > PX9I0 9Ix 0 : - 5 4
5.

` G=/ 7 4 5 4]2 5 4]?�> 5 4E/ 7 2 9f> 9 4]< 4 . 2 ; M 8 > - 9 < 4 <
3 7 > 5 / 4 3 /Z@ 2 / 7 3 L�2�/ 0 4 M 8 5 4 2 \ 0 9 :E1 7 > 0 1 4�5 - . 4�0 3
< 4 4 < 4 < h&/ 7 4*1 7 > 3 4 9�@ 2 / 7�0 3I/ 7 4*> 9 4

providing/ 7 4
?�2 [ 0 ?�2 .e3 . 2 1 \�> G�< 4 3 / 0 9 2 / 0 > 9
< 4 . 2 ;�8 > - 9 < 3 L
3 >�/ 7 2 /�/ 7 4 5 4I0 3X?�> 5 4�< 4 . 2 ;�8 - < : 4 /&G > 5#0 / 4 5 2 / 0 6 4
refinement.

B#>I: 4 / / 7 4
< 4 . 2 ; M 8 > - 9 < 4 <�3 7 > 5 / 4 3 / @ 2 / 7 L w
D ,�Y
0 9 1 5 4 ?�4 9 / 2 . . ;J1 > 9 3 / 5 - 1 / 3�/ 7 4

k
M 3 7 > 5 / 4 3 /Z@ 2 / 7 3

8 4 / P
4 4 9
/ P
>�3 - 8 / 5 4 4 3
Tj

1 2 9 < Tj

� 8 ;Z- 3 0 9 :Z2
k-3 7 > 5 / 4 3 / @ 2 / 7

algorithm[17].
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� G P M � I P�J N�I 8�OEM@N H O N N G H I G ��P M@D@I � G G
Tj

1and
Tj

2 7 � D�� ��� G�P � O � I G P I�� G � � ��D@O M@N � G � � � I � � �H O N N G H I J N �
Tj

1and Tj
2 7

4.4 8�.$ � � !�0  2 ��0 3�7 � * 7$"$# 0  � ;
B&7 4
G > . . > PX0 9 :!0 3e/ 7 4X@ 3 4 - < >I1 > < 4
> G w
D ,�Y�A

INPUT:� � � � � 	 
�� 
 � � � �
� 
 � � � 
 � � � � � � �
� 
 � � � � � � � � � � � � � � � ��� � � � � ,��� 
 � � � � � � � � � �! � � � � � � � 
 � � � � � � � � � � �!� � � � �
" � � � 
#� � � � � � � � � � � �$� � � � � � 
 � � � � 
 � � � % � � � �!� � �$ �

� � � � � & � � � � � � 
 � ' � � � � ��( � � � ( � & ��� � � � � � � � � � � )
� � � � � 
 � � � � � � � � � � � 
 � ' � � � � ��( � � � ( � & � � � �
( � * � ( � � � � � )!� � � � +

OUTPUT:, � � � � �! � � � � � �!- � � � � � 
 � 
 � � � � � � � � � � � ∪{s}
ProcedureMulticastTree

� � � � � � 	 � � � � � ��� � " � � � 	 .
j←0;
Tj←( � � � (!� (/� � � � �!� 
 � � � � � � � � � � � ∪{s}� � � � �$� � � � � � � 0 ) � � � 
 � 1 � Algtorithm;
loop

.
if
� " � � �$
 � � � � � & � � � � � � 
 � ' � � 	

ph←
� � � � ( � 
 ) � �!� � � � 
 � � � � � � Tj

% � � �!� � � � � � � � � � � � � �
� (!� � �!� � � � � ( � 
 ) � �!� � � � 
 � � � � � � � � � � � ( � � 
 � �
% � � � ( � 
 ) � � superedges);2 3 4 265 7 � " � � �!
#� � � � � � � � � � � 
 � ' � � 	

ph←
� � � � ( � 
 ) � �$� � � � 
 � � � � � � Tj

% � � � � � � � � � � � � �
� � � � � (�� � �!� � � � � � � 
 � � � � � � � � � � � � ( � � 
 � � % � � �
( � 
 ) � � superedges);

if
�
ph

��$8 9 9 	

return;: � 
 ) � � � � 
 � � � � ph;; � (�� ' � ph
� 
 � ( � 
 � � Tj

� � � � � � �$� % ��� �  � 
 � � � " 1� � � " 2;
ps←DelayBoundedShortestPath(

� � � � ��� � " 1 " < );
j←j+1;
Tj←ps ∪T1 ∪T2

If
�
ps ≠ ph)8 � ( � 
 ) � � � ( � 
 ) � � superedges;=

}

DelayBoundedShortestPath()
1 > 5 5 4 3 @ > 9 < 3�/ >

/ 7 4X- 3 4
> Ge2X\ M 3 7 > 5 / 4 3 / @ 2 / 7�2 . : > 5 0 / 7 ?
A
x 0 : - 5 4

6
3 7 > PI3�/ 7 4W3 / 4 @ 3�> G�1 > 9 3 / 5 - 1 / 0 9 :J2

?�- . / 0 1 2 3 /f/ 5 4 4v8 2 3 4 <S> 9p- / 0 . 0 V 2 / 0 > 9 M < 5 0 6 4 9
> @ / 0 ?�0 V 2 / 0 > 9eAeB&7 4
/ > / 2 .X4 < : 4*1 > 3 /!> G!/ 5 4 4

T
0 3

< 5 > @ @ 4 <�G 5 > ? � o k / 7 4�3 7 > 5 / 4 3 /�< 4 . 2 ;�/ 5 4 4 m�/ >�oel L
2 9 <�/ 7 4I?�2 [ 0 ?�2 .e@ 2 / 7Z< 4 . 2 ;Z> G&/ 7 4�G 0 9 2 .e/ 5 4 4I0 3
4<∆=5.
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4.5 ��# � � ) �98�.$ � � !�0  2 ��0 3�7
Algorithm

Y!9 > / 7 4 5!2 . : > 5 0 / 7 ?K1 2 9*8 4�- 3 4 <*0 9*w
D ,�YE0 3!2
: 5 4 4 < ;Z3 4 . 4 1 / 0 > 9Z> G�@ 2 / 7�3 P
0 / 1 7 0 9 :
2 /&4 2 1 7
/ 5 4 4
5 4 G 0 9 4 ?�4 9 / A B&7 4!1 > 3 / 5 4 < - 1 / 0 > 9�> G&2 G / 4 5X2!5 > - 9 <
> G#@ 2 / 7�3 P
0 / 1 7 0 9 :Z0 3I< 4 G 0 9 4 <*2 3I: 2 0 9eA i&4 /

p
8 4

/ 7 4=@ 2 / 7W0 9�/ 5 4 4
Tj
PX0 / 7W1 > 3 /

c
LI2 9 <

p*
/ 7 4

1 > 5 5 4 3 @ > 9 < 0 9 :�< 4 . 2 ;�8 > - 9 < 4 <=3 7 > 5 / 4 3 /
@ 2 / 7�/ >
8 4�2 < < 4 <
0 9 / >
/ 5 4 4

Tj+1
P
0 / 7Z1 > 3 /

c*
A B&7 4�: 2 0 9

> G / 7 0 3Z@ 2 / 7�3 P
0 / 1 7 0 9 :!0 3�< 4 G 0 9 4 <�2 3
g=c-c*.

w
D ,�YJ1 > ?I@ - / 4 3!: 2 0 9 3
> GX2 . .�@ 2 0 5 3
> G&@ > 3 3 0 8 . 4
@ 2 / 7*3 PX0 / 1 7 0 9 : 3X0 9

Tj
Le2 9 <Z/ 7 4 9�3 4 . 4 1 / 3X/ 7 4�> 9 4

PX0 / 7Z/ 7 4�?�2 [ 0 ?�- ?K: 2 0 9 A w
D ,�Y]1 > 9 / 0 9 - 4 3
/ 7 4
: 5 4 4 < ;�@ 2 / 7J3 P
0 / 1 7 0 9 : L�2 9 <�/ 4 5 ?�0 9 2 / 4 3�P
7 4 9
/ 7 4X?�2 [ 0 ?�- ?W: 2 0 9I0 3�V 4 5 > A

4.6 ��A$.$* 5�.$ 0 "$3 " 1 � � & �
B&7 4
@ 5 > @ > 3 4 5 3�> G
w
D ,�Y�@ 5 > 6 4 <�0 9Ht l o u!/ 7 2 /
w
D ,�Yr2 . P!2 ; 3]1 > 9 3 / 5 - 1 / 3E2N< 4 . 2 ; M 8 > - 9 < 4 <
?�- . / 0 1 2 3 /J/ 5 4 4 L�0 G+3 - 1 7�2N/ 5 4 4�4 [ 0 3 / 3K2 9 <

?�> 9 > / > 9 0 1 2 . . ;+< 4 1 5 4 2 3 4 3�/ 7 4E1 > 3 /=> GH< 4 . 2 ; M
8 > - 9 < 4 <I/ 5 4 4 A

� > 9 3 0 < 4 5 0 9 :*2
9 4 / P
> 5 \�> G n
9 > < 4 3!2 9 <�< 4 9 > / 4

8 ;
k
/ 7 4�2 6 4 5 2 : 4I- ?�8 4 5
> G&/ 7 4

k
M 3 7 > 5 / 4 3 /&@ 2 / 7 3

1 > 9 3 / 5 - 1 / 4 <r/ >�> 8 / 2 0 9�/ 7 4 < 4 . 2 ; M 8 > - 9 < 4 <
3 7 > 5 / 4 3 /
@ 2 / 7eA
` /
0 3�3 7 > PX9W/ 7 2 /
/ 7 4�4 [ @ 4 1 / 4 <
/ 0 ?�4
1 > ?�@ . 4 [ 0 / ;�> G w
D ,�YH0 3

O(kn3 � � � � � � � � and
O(kn3)

0 9�2I< 4 : 5 4 4 M 8 > - 9 < 4 <�9 4 / P!> 5 \
P
7 4 5 4!/ 7 4
?�2 [ 0 ?�2 .
< 4 : 5 4 4Z0 3�- @ @ 4 5�8 > - 9 < 4 <

.
, 5 > > GI1 2 9

8 4
G > - 9 <I0 9
t l o u A

5 Summary
Y!. . ?�- . / 0 1 2 3 /�3 > - 5 1 4!5 > - / 0 9 :�2 . : > 5 0 / 7 ?
3#5 4 F - 0 5 4
: . > 8 2 .e3 / 2 / 4
/ >I8 4
?�2 0 9 / 2 0 9 4 <�2 / 4 6 4 5 ;I9 > < 4
0 9�2
9 4 / P
> 5 \eA ,�> 3 / 7 4 - 5 0 3 / 0 1!2 . : > 5 0 / 7 ?
3#G > 5&/ 7 4 ��,�M
1 > ?�@ . 4 / 4
?�- . / 0 1 2 3 / 5 > - / 0 9 :I@ 5 > 8 . 4 ?J1 > 9 3 / 5 - 1 /e2
1 > 9 3 / 5 2 0 9 4 <=/ 5 4 4*0 9 1 5 4 ?�4 9 / 2 . . ;=8 ;=2 < < 0 9 :H> 9 4
< 4 3 / 0 9 2 / 0 > 9�0 9 / >H/ 7 4�/ 5 4 4=4 2 1 7�/ 0 ?�4�8 2 3 4 <�> 9
1 4 5 / 2 0 9H3 4 . 4 1 / 0 > 9=1 5 0 / 4 5 0 2 A�B&7 4��
,�w+2 9 <���, ,
2 . : > 5 0 / 7 ?
3*5 4 < - 1 4=/ 7 4H> 5 0 : 0 9 2 .�@ 5 > 8 . 4 ?�/ >W2
3 @ 2 9 9 0 9 :�/ 5 4 4�@ 5 > 8 . 4 ?U8 ;j1 > 9 3 / 5 - 1 / 0 9 :v2
. > : 0 1 2 .e1 > ?�@ . 4 / 4�: 5 2 @ 7
2 ?�> 9 :�/ 7 4�3 > - 5 1 4I9 > < 4
2 9 <�/ 7 4*< 4 3 / 0 9 2 / 0 > 9�9 > < 4 3 A&B&7 4��#w+2 . : > 5 0 / 7 ?
1 > 9 3 / 5 - 1 / 3I2
?�- . / 0 1 2 3 /#/ 5 4 4*PX0 / 7�8 > / 7�8 > - 9 < 4 <
< 4 . 2 ;*2 9 <Z8 > - 9 < 4 <�= 0 / / 4 5 L�PX7 0 1 7*0 3!6 4 5 ;Z- 3 4 G - .
0 9 0 9 / 4 5 2 1 / 0 6 4p2 - < 0 > M 6 0 3 - 2 ._1 > ?�?�- 9 0 1 2 / 0 > 9
3 - 1 7�2 3&/ 4 . 4 1 > 9 G 4 5 4 9 1 0 9 : A B&7 4��$,@<Wk > 5�w
D ,�YIm
2 . : > 5 0 / 7 ?

iteratively
5 4 G 0 9 4 3#/ 7 4I?�- . / 0 1 2 3 /�/ 5 4 4

8 ;�5 4 @ . 2 1 0 9 :�@ 2 / 7 3I0 9�/ 7 4Z/ 5 4 4�G > 5�. > P
4 5�1 > 3 / A
B&7 0 3!2 . : > 5 0 / 7 ?K1 2 9Z7 2 9 < . 4�/ P
>�6 2 5 0 2 9 / 3I> GX/ 7 4
1 > 3 /ZG - 9 1 / 0 > 9 h�> 9 4H?�0 9 0 ?�0 V 0 9 :�/ 7 4H/ > / 2 .
. 0 9 \
1 > 3 / > Ge/ 7 4X/ 5 4 4 L 2 9 <I/ 7 4
2 9 > / 7 4 5&?I0 9 0 ?�0 V 0 9 :I/ 7 4
?�> 3 /Z1 > 9 : 4 3 / 4 < k ?�2 [ 0 ?�2 . m�. 0 9 \J1 > 3 /pY!?�> 9 :
/ 7 4 3 4�2 . : > 5 0 / 7 ?
3=G > 5�/ 7 4W1 > 9 3 / 5 2 0 9 4 <

Steiner/ 5 4 4I@ 5 > 8 . 4 ?
L D 2 . 2 ?�2 c 3
3 0 ?�- . 2 / 0 > 9et l � u
3 7 > P
4 <
that:
•
B&7 4 �$,@<s2 . : > 5 0 / 7 ? 2 1 7 0 4 6 4_/ 7 4_8 4 3 /
2 6 4 5 2 : 4 @ 4 5 G > 5 ?�2 9 1 4�0 9 / 4 5 ?
3 > G
?�0 9 0 ?�0 V 0 9 :!/ 7 4
1 > 3 / > G / 5 4 4 A

•
B&7 4 D iU2 . : > 5 0 / 7 ? 7 2 3v/ 7 4r3 7 > 5 / 4 3 /
4 [ 4 1 - / 0 > 9I/ 0 ?�4 A

B&7 4E1 > ?�@ - / 2 / 0 > 9]0 3�4 2 3 ;+2 9 <KG 2 3 /�0 9+?�> 3 /
?�- . / 0 1 2 3 /e3 > - 5 1 4
5 > - / 0 9 :�2 . : > 5 0 / 7 ?
3 L 2 9 <�@ > . 0 1 ;
5 > - / 0 9 :Z1 2 9
8 4�4 2 3 0 . ;Z0 9 / 4 : 5 2 / 4 < A 	!> P
4 6 4 5 L / 7 4
> 6 4 5 7 4 2 <*/ >�?�2 0 9 / 2 0 9�/ 7 4ZPX7 > . 4�9 4 / P!> 5 \=3 / 2 / 4
0 9�/ 7 4
5 > - / 4I1 > ?I@ - / 0 9 :�9 > < 4I1 2 9�8 4I6 4 5 ;
. 2 5 : 4 A
B&7 4 5 4 G > 5 4 L�0 /Z0 3�9 > /Z@ 5 2 1 / 0 1 2 .ZG > 5=6 4 5 ;E. 2 5 : 4
9 4 / P
> 5 \ L P
7 4 5 4
/ 7 4I1 > ?I@ . 4 / 4
\ 9 > P!. 4 < : 4!> G�/ 7 4
9 4 / P
> 5 \�0 3�< 0 G G 0 1 - . /
/ >=1 > . . 4 1 / A�` 9=?�> 3 /!1 2 3 4 3 L
3 - 1 7�2 . : > 5 0 / 7 ?
3I2 5 4
> GX/ 7 4 > 5 4 / 0 1 2 .&0 9 / 4 5 4 3 /X2 9 <
3 7 > - . <K8 4]- 3 4 G - .H2 3W/ > > . 3W/ >f?�4 2 3 - 5 4]/ 7 4
@ 4 5 G > 5 ?�2 9 1 4�> G�> / 7 4 5�5 > - / 0 9 :J2 . : > 5 0 / 7 ?
3 AI` 9
2 < < 0 / 0 > 9 L�0 /�7 > @ 4 <f/ 7 2 /�/ 7 4f3 / - < ;_> GJ3 - 1 7
2 . : > 5 0 / 7 ?
3�P
0 . .p1 > 9 / 5 0 8 - / 4Q/ >R2g8 4 / / 4 5
- 9 < 4 5 3 / 2 9 < 0 9 : > G�/ 7 4R?�- . / 0 1 2 3 /r5 > - / 0 9 :
problem.
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